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QUESTION 1

Examine the output of the command:

lssubsys —ami

devices

freezer 3

net cls 1

perf event 2

hugetlb

cpuset, cpu,memory /cgroup/A
cpuacct /cgroup/cpuacct
blkio /cgroup/B

Which two statements are true? (Choose two.)

A. The names in the first column represent cgroup subsystems that are currently attached to any cgroup hierarchy
regardless of whether they are mounted or unmounted.

B. freezer, net, cls, and perf_event are group subsystems and they are attached to unmounted cgroup hierarchies. The
second column represents the arbitrary system-assigned cgroup hierarchy number.

C. spuset, cpu, memory cpuacct, and blkio are cgroup subsystems and they are attached to mounted cgroup
hierarchies. The second column represents the mount point of the cgroup hierarchy.

D. freezer, net_cls, and perf_event are group subsystems and they are attached to mounted cgroup hierarchies. The
numbers in the second column represent the number of cgroups in each cgroup hierarchy.

E. cpuset, cpu, memory, cpuacct, and blkio are cgroup subsystems and they are attached to unmounted cgroup
hierarchies. The second column represents the configuration file for the corresponding cgroup hierarchy.

Correct Answer: AB

QUESTION 2

Which two occur when you run the command:
[root@FAROUT /root] rndc reload

A. They key file /etc/rndc.key is reloaded.

B. The configuration file /etc/named.conf is reloaded.
C. Only new zones are reloaded.

D. All zones are reloaded.

E. Only changed zones are reloaded.
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F. Only new keys are reloaded.
G. All keys are reloaded.

Correct Answer: AE

QUESTION 3
While copying a file to the /users file system, which is located on /dev/sdd1, you receive an error:

$ cp /etc/oratab /users/oracle cp: cannot create regular file “/users/oracle/oratab\\': Disk quota exceeded You examine
your assigned quota as shown: $ quota -q Disk quotas for user oracle (uid 500):

Filesystem blocks quota limit grace  files quota limit grace
/dev/sddl 2000 100000 @ 20000 103* 100 150 6 days

Which option represents the reason for receiving the Disk quota exceeded error?
A. The oracle user has reached its block quota.

B. The oracle user exceeded its file quota five days ago.

C. The oracle user has reached a group quota limit.

D. The /users file system is full.

E. The oracle user exceeded its block quota six days ago.

Correct Answer: C

QUESTION 4

A container has a runaway process that is consuming all of its allotted CPU time. You want to temporarily stop this
container from using any more CPU so that you can inspect it and try to correct the problem.

Which command would you run?
A. kill =STOP “Ixc-info --pid —n *
B. Ixc-freeze —n

C. Ixc-stop —n --freeze

D. Ixc-cgroup —n cpu.shares 0
Correct Answer: B

Reference: http://man7.org/linux/man-pages/manl/Ixc-freeze.l.html

170-105 VCE Dumps | 1Z0-105 Practice Test | 120-105 Braindumps 3/4


https://www.pass4itsure.com/1z0-105.html
https://www.pass4itsure.com/1z0-105.html
https://www.pass4itsure.com/1z0-105.html

. VCE & PDF https://www.pass4itsure.com/1z0-105.html
a 2024 Latest passditsure 1Z0-105 PDF and VCE dumps Download

— PassditSure.com

QUESTION 5

Which three statements are true about the contents of the /etc/ocfs2/cluster.conf configuration file?
A. The heartbeat stanza is required only if local heartbeat mode is enable.

B. All stanzas must start at the first column and end with a colon.

C. All parameters must start after a tab.

D. A blank line must demarcate each stanza.

E. A blank line must demarcate stanzas and parameters.

F. All parameters must start after a tab and begin with a colon.

Correct Answer: CDF
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